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iy T ¥ % | HHE BB K 5 Z 1558ART | 15~645% | 655
# # 17,697 | 59,221 | 29,712 29,508 | 14,821 | 39,194 5, 206
ZN T 765 2,193 1,125 1,068 | 290 1, 561 342
T % 151 573 279 294 94 368 111
bl i 89 303 156 147 30 215 58
7 G 17 69 33 36 6 48 15
X F ® — T H 123 352 181 171 85 285 | 12
A T #H# — T H 178 616 319 297 160 424 32
A T E =Z T H 260 835 414 421 221 571 43
A T B mM T H 265 955 480 475 243 652 60
g R 205 732 378 354 130 469 133
g il B 12 X X X X X X X
/N 2N 1,151 3,578 1,824 1,754 681 2, 463 434
2) R ] 7 0 0 0 0 0 0 0
N B OROE X X X X X X X
N db — T H 189 687 335 352 166 488 33
N Jb ZT H 32 104 50 54 25 67 12
N db =T H 58 224 112 112 66 149 9
N d BT OH 165 575 292 283 146 396 33
how d X T H 118 425 200 225 126 260 39
M &k B — T H 181 664 13217 337 206 416 42
N &R M Z T H 67 235 114 121 96 138 1
NoB B M = T H 63 216 108 108 52 145 19
MR N —TH 117 434 219 215 129 282 28
IR 2T H 120 463 228 235 160 290 13
NHMAPM T =ZTH 12 44 26 18 15 29 0
X #& 1,848 5, 558 2, 785 2,773 753 3,887 918
i 2 59 251 122 129 35 172 44
=] 157 54 236 110 126 A7 140 49
e fE 121 453 235 218 70 293 90
# 15 9 28 15 13 3 19 6
o= il i 18 48 26 22 5 32 11
AN 43 I} B’ X X X X X X X
i il 250 1,007 515 492 134 634 239
WO N A X X X X X X X
=] & 53 221 118 103 25 158 38
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1] T ¥ /AR a0 U i 4 158K | 15~64m% | 655%2AE
1H & 40 H | 25 82 45 37 11 54 17
p= 78 o 3 7 19 | 1 B 3 16 0
7N =1 37 140 67 73 19 96 25
N B 5 — T H 600 1, 945 975 970 629 1,242 74
N B B Z T H 348 1,133 572 561 385 731 17
N B & = T H 1491 1,743 885 858 663 | 1,036 44
hoEB B ™ T H 382 1,327 683 644 454 845 28
0 R 76 345 177 168 45 219 81
X K = T H 35 101 51 50 21 68 12
oo K F — T H 93 319 161 158 51 244 24
A M — T B 272 1,017 516 501 " 343 631 43
A w Z T H 392 1,435 695 740 421 950 64
AX X = T H 202 715 353 362 109 563 43
A X m®m T H 400 1,393 680 713 250 1,088 105
KX X #H T H 165 543 2617 276 124 380 39
A ox KX T H 273 999 486 513 287 666 46
28 i 66 284 136 148 39 181 64
= i 50 238 127 111 26 149 63
A = 161 627 313 314 93 421 113
A 5] 148 605 306 299 97 373 135
& 7 F 51 191 92 99 30 121 40
% % i M 16 66 34 32 11 40 15
N % —- T H 708 2,182 1,005 1,087 614 1, 436 132
wm % - T H 985 2,999 1,503 1,496 867 1, 982 150
wm % = T H 134 155 66 89 8 147 0
[ T H 213 720 374 346 225 448 gy
R b T H 536 1,883 941 942 655 1,178 50
H o = T H 580 1,985 953 1,032 618 1,272 95
m & — T H 397 1,374 698 676 477 828 69
s & - T H 157 351 215 136 100 251 0
m i = T H 95 313 159 154 88 192 33
®m i ™ T  H 469 1,620 815 805 492 1,048 80
m fE @ T H 284 969 505 464 191 682 96
= f& KN T H 493 | 1,728 857 871 457 1,148 123
B 23 368 1, 454 710 744 232 937 290
w0 E®E — T H 313 1,089 512 5217 369 | 651 19
" oo K = T H 221 752 359 393 293 449 10




B3FX WTEIHEEROCBELR, ER(IXmBAO - HESR &GS
HT ¥ % | HEBRIR K 2 Z 1SEESRI | 16~645% | 6550 1
[ic| = H 576 1, 939 968 971 735 1, 180 24
& T H 106 281 153 128 83 189 9

o 26 112 60 52 7 85 20




